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<1> MEE = 8 HH=S(=H)= = Snol @™ grE STMHAH MEotES LI
<2> 5JtXAl OlAIOl HIS (AY = StMS0l 2lol dE/H02 & 5H=33)
1) LAk £ Speech (48 212 tXI)
2) 2l IJI=&: 3é 172 =M 38 2420HX HE)
3) WOt oleE A: 33 242 =X 3 312X HIE)
4) &F0AH HXIMII: 38 312 =X (48 0720tX HIE)
5) WOt Dt A& o &: 48 072 =H 43 1420tX NE)
<4> EHA [ LH/AFE JH: Youraise muup.(202 S22 W F)
> g§3¢5: 428 722H 233 & HSE MEO0IH O O SMES 22X oM AS5E
> )| g2/ &+ (Viola) 24 0lat2(Cello) 2= A EfH (Violin) & 6t 2 (Piano)
> &F 2oLt 0l21& 0OlGtE OlKE =RE 2HAH =22 =B
|18tE HJldd I HIl=
EM/SH/EZWAE AZ2E L Point A3 172 7HXI)
33 Eta XRE FAHAG
<JdE A
018 2 & [ Olela | ZENH of2 | doliLt | & =2 | Olot& | Olot=2 | 01X & | Mel= | 2=e! | 2oAd
TAS =2 Alet2 AletH 2|8t =& 8t SSet £ et JtE228t A8t
or& 9& 10 112 128 1-2824< 383-17¢
E4 0 0] 0] 0 0] 0] 0] X 0] X 0 0
Z4(P) 16 14 15 17 14 17 19 11 18 11 19 15
=X 1 1 1 1 1 1 1
= HlI(P) 10 5 13 13 9 12 15 8 15 14 14 10
TA 1.4 1.4 1.4 1.4 1.4 1.4 1.4 1.4 2.1 2.1
TA(E) | 21.4 | 20.4 | 17,9 | 23.7 | 15.3 | 23.3 | 26.9 | 11.5 | 21.4 13 23.1 23.1
LLHIPT 5 5 5 5 5 5
WRIPTT - - 5 15 15 15 15 10 15 15 10 10
<d& B>
012 Z K0! EDURE olete E&E HoldA HOI HIIS
TABIS | SEE | AS0Ier | Or=1 | aleHer | daresr | oiger | gde
gH& 38 24-48 7Y 48 14-5€ 52 58 122-68 2¢ 63 9¢-16¥
=EH(3) 0] 0] 0] 0] 0] 0 0]
=4 (P) 3 4 4 4 3 3 3
=X 1 1 1 1 1 1
= HlI(P) 1 3 3 3 2 1 2
TA 1.4 1.4 1.4 1.4 1.4 1.4
TA(E) 4 5.4 5.4 5.4 3.4 3.4 3.4
ILHIPT 5
WRIPTT 5 5 10 5 5 5 5
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<BE5>%mo] £ 49 * SO 2I1(3E 179)
[Korean Grammar-3] Usage
What is the difference between Z& and Z0tR?

=0

Z2 and Z0t2 both mean ‘good’ however uses are different.

Abasic form of £2 and £0tR is ECt.

All of basic form for verb and adjective in Korean ends with -Ct.

When you make a conversation, you should delete -Ct and then add some endings such as -
Ol or UYNHRK.

Z£2 is Z0} + 2 which is a modifier.
It modifies nouns.
For example, Z2 A&,

O

S xH
— )y

O
ro

=R

Therefore; Z2 needs a Noun after that, so Z20/0l2 or 2 USLICH are wrong.
So, do other verbs and adjectives.

On the other hand, £Z0t2 is ZCt + Ot which is a present/polite ending.
For example, 5t=0| £0IR or EMJt £0IR.

(1) g0l &2~ E= ~B0R.E E0M 222 2 T U2 BHYdl BAMR.
Wr1te the sentences using €2 or £0lR then translate into English on the next line.
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@) o= 23t=x| ujet of ofsf AR

HZo 2 VUF7) BrelA B3t

=]

A A o]of7] Q.

~SM, HEM, ALEM - fcl sdle MEM &0 EA0R.
20l JH2lE SM=E &3ALH
M, SM, AW - M= 2cE80A M ot=ELICH
«XH(1):0101 A= DUHZ: HelE =2 M2 22 210 UsLICh
«TH(2):HE Ol OLE DFR2IEX A2 &EH: =HE M OXIJIE A0l &0l =
«IH(3): &R E Ett=E 20I2: & & M, & M.
(4):

* 7 (4

2o oo meE @ EoU B 20 se 2

ANR.
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M A« sh7] 555349 24<)
ZurEw 2 gnlE g8 Ao/
Ohkt / GEXE
“ D . O L
33 AlZto| Yol X|LH= S9H2 UaHe. o
3 Ol Yol 7P 7| QUFLE Of AT TP 2202 ThE UKL,
@) oieil wt=x) izt sof ofs HHIR
g3 ot 7oAk
Bl 83 Fel =334,
23} So A7} gkl
© olw EZFHo] L&A f7]|3] AL (0SS M2 21 LHHD))
1) X222 8t ot 82 AIZH0ILIDE MBI sot= 2401 £2200{.( 0 X)
XN=22 sta& XpoF 29 AI2E0ILDF MEO Sots 240l E20.(0 X)
2) SN2 SEOILE 20| RASFLCH (O X)
A2 SHEOILE &0] SoedCH (O X)
3) 220 SHA gt =H|JF e&0ICH (O X)
20 SHA gt =H|JF e&0|CH (O X)
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[F=°] 4 4] shui [‘ﬁoﬂ uatm l1q1ud lot:ton juice [€Eo]] = 4

\ ol
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(&) 24 EdF: HE2,08)F78 [FF]FFz s
O“| 4"‘3 shén, _]uan [ ©1] body; trunk, hull; rad. no. 158 [ &) & >, # >

T799%

HJ 2

5. 4(0) 7 A e (FhE 2,08) 348 [FE] TS
[ 0] 47 xin [% ©] heart; mind, intelligence: soul [€£2]] & =

INNVINNVININTININ
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26. H(+) € 4 +:HE A 0D F 2T [FFE]FE
[F=°1 4 /3] shi [ °]] ten, tenth; complete; perfect [LE{] ¥ 2 7, &

e

27. o) % % =2 EYL0DF62 [FF] TS
[Z=0°] 44] yang [ ©]] sheep, goat; KangXi radical 123 [ E]] 2 7

28. °j(&) E117] °f B AET0DE112 [=F]FF3ud
73] 47d] yi [ 1] fish; sumame; KangXi radical 195 [€ £ ¥ 3

() HA @ BHE: =(F01,28) 548 [+7] 9L
(%3] 48] wi [ ]] five; sumame [¢&0]] =

T hA
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. SAFZH MIRE TF (4) +

82. F(&) FA¢ = BlE: 2L e,28) %98 [$7]F2us
[F%‘ﬂ 44] zhong chcmg, tong [ ©1] heavy, weighty; double [R 2] F35 ™7, ¥ 27

83. A (i) & 2 Bl H(Z E.3)Z68 [=F]Zdund
[F=2] 4 4] di, de [ 2] earth; soil, ground; region [FE]] #, &

s ¥ ¥ ¥ B b,

B5.2E 2z Bl wE 2633108 2] 2dnd
[F=] 4 ’Ej]zao cio [% ©]] grass, straw, thatch, herbs [€Eo]] v 7
R Rl
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21012t HHEII| *Reading & Translating week No.5 * 38 24
Hl=: st=2, Hangeul/Korean Language

Hangeul/St= is the Korean alphabet, which has been used to write the Korean language since
its creation in the 15th century by Sejong the Great. It is the official writing system of South
Korea and North Korea. It is a co-official writing system in the Yanban(2f2}t) Korean Autonomous
Prefecture and Changbai(Zf2%), Korean Autonomous County in Jilin Province (2 & &), China. It is
also sometimes used to write the Cia-Cia language spoken near the town of Bau-Bau, Indonesia.

The alphabet consists of 19 consonants and 21 vowels. Instead of being written sequentially, like
the letters of the Latin alphabet, Hangeul letters are grouped into syllabic blocks. For example,
the Korean word for "honeybee" is written 22, not nT== 4 =,

As it combines the features of alphabetic and syllabic writing systems, Hangeul has been
described as an "alphabetic syllabary” by some linguists. As in traditional Chinese writing, texts
written in Hangul were historically written top to bottom, right to left, and are occasionally still
written this way for stylistic purposes. Today, Hangeul is typically written from left to right with
spaces between words and western-style punctuation. Some linguists consider Hangeul the most
logical writing system in the world, partly because the shapes of its consonants mimic the shapes
of the speaker's mouth when pronouncing each consonant.

o

=22 HYGH)|/Translating

10 |Page



